9.2-9.3 Exponential Functions

Exponential Mndelg:;’::‘ul

Ex1) If a rubber ball is\dropped from a height of 10 feet, the
function f(x) = 20 (0.6)*gives the height in feet of each

bounce, where x is the bounce number. What will be the
height of the 5" bounce? (Round to the nearest tenth of a
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Ex2) A population of pigs is expected to increase at a rate of
4% each year. If the original population is 1000, the function

f(x) = 1000 (1.04)* gives the population inx years. What will
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Writing an Exponential Model: M

Exponential Growth:y=a (1 +r)t< it ) Lot 4
T 1 \ rady Aatfmﬂl
Fmal Tahald 2)X 2.3b 000
ex) 47/, = o.0Y4

amownt o mownl
Ex3) The population of a city is increasing at a _r_a_tg@each
year. In 2000 there were\BS,DOB]peuple in the city@Write an
exponential growth function to/model this situation. Then

find the opulation in 2 ®
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Exponential Decay:y=a (16r)

Ex4) The population of a city is'decreasing at a rate of 6%()
each year. In 2000 there were 35,000 people in the city. Write
an exponential decay function to mndeJthls situation. Then

find the population in 20122 Col codallor’
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Tryl) Annual sales at a company are $372,000 and increasing at a
rate of 5% per year. Write the exponential model and find the sales

after 8 years. Mﬂ&plr Y=1332, o000 ( | 4 0.05 )f

8
£=8 Y= 332 oo (/:05)

2 549,613 43

(TLL saley wUA be abovk ﬁgq‘ﬁj; 613. 43 Qvﬁlav 319

Try2) Monthly car sales for a certain type of car are $350,000 and are

decreasing at a rate of 3% per month. Write the exponential model

and find the sales after 6 months. ] ‘
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Special Type of Exponential Growth Functions:
involves finding the compound interest. (Inu-csf'mmf)
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Ex5) Write a compound interest function tujmndej$15 000
invested at a rate of 3% compounded quarterly. Then find the
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balance after 8 years. n=4 el u—«la'fug*
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Ex6) Write a compound interest function tu|mndel{$1?;0{]0
invested at a rate of 3% compounded monthly. Then find the
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Try) Write a compound interest function to model $23,000
invested at a rate of 2% compounded quarterly. Then find the

balance after 8 years.
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